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i) General Awareness

Olympics 2020 will be held at
(A) New Delhi, India

(B) Tokyo, Japan

(C) Beijing, China

(D) None of the above

CRM full form

(A) Customer Relationship Management
(B) Cost Reliable Manage

(C) Cost Relationship Management
(D) None of these

The book “Born Again on the Mountain”
is written by

(A) Tenzing Norgay
(B) Bachendri Pal
(C) Arunima Sinha
(D) None of the above

QMS stands for

(A) Quality Management System

(B) Quantity Management System
(C) Quantitative Management System
(D) Qualitative Manage System

Maijor activities of demand management is
(A) Making delivery promises

(B) Forecasting

(C) Order processing

(D) All of the above

The book “My Journey” is written by
(A) A.P.J.Abdul Kalam

(B) Mahatma Gandhiji

(C) Aravind Adiga

(D) None of the above

i

10.

11,

Types of Store Control Records
(A) Bin Card

(B) Store Ledger Card

(C) Both (A) and (B)

(D) Cash Voucher

is the probability of accepting a

bad lot.

(A) Consumer's risk
(B) Producer’s risk
(C) Both (A) and (B)
(D) None of these

The Kalinga Prize for the popularization
of Science given by

(A) WHO

(B) UNICEF

(C) UNESCO

(D) None of the above

Aggregate inventory management deals
with managing inventories, such as
(A) Raw Material

(B) Finished Goods

(C) Both (A) and (B)

(D) None of these

ASQ stands for

(A) American Society of Quality
(B) American Social of Quantity
(C) American Socialism of Quality
(D) American Secure of Quality
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12.

13.

14.

15.

Which of the following statement/s given
below is/are true about Gandhi Peace
Awarded by Government of India ?

a. This annual award is given to
individuals, associations, institutions
or organizations who have worked
selflessly for peace, non-violence.

b. The award is open to all persons
regardless of nationality, race,
language, caste, creed or gender.

(A) Only (a) is true

(B) Only (b) is true

(C) Both (a) and (b) are true
(D) None of the above

SCM stands for

(A) Supplier Chain Management
(B) Supply Change Management
(C) Supply Chain Management
(D) Supply Chain Manager

stocks are maintained as
a safeguard against the uncertainties of
demand and supply.

(A) High inventory
(B) Safety

(C) Non-moving
(D) Obsolete

Who among the following Indian
Journalists recently received the
Prestigious Ramon Magsaysay Award
20197

(A) Arnab Goswami

(B) Ravish Kumar

(C) Rajdeep Sardesai

(D) None of the above

16.

17,

18.

19.

20.

ERP stands for

(A) Electronic Resource Production
(B) Enterprise Requisition Production
(C) Enterprise Resource Production
(D) Enterprise Resource Planning

In inventory, WIP means
(A) Work-in-process
(B) Work-on-progress
(C) Work-in-perfect
(D) Word-in-progress

The Pulitzer Prizes honors

(A) Excellence in the field of journalism
and arts

(B) Excellence in the field of science

(C) Excellence in the field of space
science

(D) None of the above

classification is based on
the criticality of the material.

(A) ABC
(B) VED
(C) XYZ
(D) FSN

What does SKU stand for ?
(A) Stock Keeping Unit
(B) Stock Keepers Unit
(C) Stock Kilo Unit

(D) Select Key Unit
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21.

22.

23.

24.

25.

Nobel Prize 2019 in Physics awarded
to the three scientists for their work on

(A) Cosmology

(B) Light pollution

(C) Quantum mechanics
(D) None of the above

Production planning should involve
(A) Forecasting

(B) Capacity planning

(C) Material requirements planning
(D) All of the above

Best storage system for very large
quantities of same material with low
turnover

(A) Shelf storage
(B) Rack storage
(C) Drawer storage
(D) Bulk storage

Which one of the following Indian films
made official entry to Oscars 2020 from
India ?

(A) Kurukshetra (Kannada)

(B) Gully Boy (Hindi)

(C) Uyare (Malayalam)

(D) None of the above

Carrying cost can be broken down into
categories.

(A) 2
(B) 3
(C) 4
(D) None of these

26.

27.

28.

29.

30.

Factor influence effective use of
warehouses

(A) Order picking

(B) Stock location

(C) Packaging

(D) All of the above

Which of the following organization
given below is the three times recipient
of “Nobel Peace Prize” ?

(A) Red Cross

(B) UNICEF

(C) ICAN

(D) None of the above

Resource planning involves

(A) Long range capacity resource
requirement

(B) Change in staffing, product
design

(C) Both (A) and (B)

(D) None of these

Type of material handling equipment
(A) Conveyors

(B) Industrial trucks

(C) Cranes

(D) All of the above

An example of shrinkage costs
includes

(A) Incoming freight
(B) Storage costs
(C) Insurance

(D) Clerical errors
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31.

32.

33.

34.

35.

FIFO stands for

(A) First Incoming First Outstanding
(B) First In First Out

(C) Final In Final Out

(D) First Included First Out

must satisfy the demands
of the marketplace.

(A) Production

(B) Marketing

(C) Finance

(D) None of the above

An item manufactured in house, the cost
includes

(A) Direct material
(B) Direct labour
(C) Factory overhead
(D) All of the above

Inventory serves as buffer between
(A) Supply and demand

(B) Customer demand and finished
goods

Both (A) and (B)
None of these

(C)
(D)

Selection of suppliers includes
(A) Effective quality system

(B) Customer satisfaction

(C) Stable management system
(D) Al of the above

37.

38.

39.

40.

Inventory management method where
materials are scheduled to arrive exactly
when needed in the manufacturing
process is called

(A) On-the-top
(B) Just-in-time
(C) Just-for-use
(D) On-the-go

Returned goods can be
(A) Returned to inventory
(B) Refurbished for resale

(C) Broken down to reusable
components

(D) All of the above

refers to that part of the
non-moving inventory that is unlikely
to be of any further use in supply chain
operations/markets.

(A) Safety stock
(B) Decoupling stock
(C) Seasonal stock
(D) Dead stock

Functions of store management is
(A) Physical Stock Verification
(B) Stock Accounting

(C) Storage

(D) All of the above

In fixed location system

(A) An SKU is assigned a permanent
location

(B) No other items are stored there

(C) Itis possible to store and retrieve
items

(D) All of the above
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ii) General Intelligence and Reasoning Ability

41,

42.

45.

-10-

Fifteen years from now Raju's age will
be 4 times his present age. Present age
of him is

(A) 5years
(C) 6years

(B) 4 years
(D) 7 years

Rama travels 10 km North turns left
and travels 4 km and then again turns
right and covers another 5 km. He then
turns to right and travels another 4 km.
How far is he from the point of starting
his journey ?
(A) 15km

(C) 5km

(B) 4 km
(D) 10km

If 18! January, 2001 was Monday,
then what day of the week was it on
315! December, 2001 ?

(A) Wednesday
(B) Friday

(C) Monday
(D) Saturday

Introducing Amrita, Raj said, “Her
mother is the only daughter of my
mother-in-law”. How is Raj related to
Amrita ?
(A) Husband
(C) Wife

(B) Father
(D) Uncle

In a gathering seven members are
sitting in a row. C is sitting left to B, but
on the right to D. A is sitting right to B.
F is sitting right to E, but left to D. H is
sitting left to E. Find the person sitting
in the middle.
(A) C

€) E

(B) D
D) F

486.

47.

48.

49,

| A0 00 O

A woman said to a man, “The daughter
of your only sister is the sister of my
husband”. What is the relation of man's
sister to the woman ?

(A) Mother

(B) Mother-in-law

(C) Data inadequate

(D) None of these

Seeta and Ram both start from a point
towards North. Seeta turns to left after
walking 10 km. Ram turns to right after
walking the same distance. Seeta
waits for some time and then walks
another 5 km, whereas Ram walks
only 3 km. They both then returns to
their respective South and walk 15 km
forward. How far is Seeta from Ram ?

(A) 15km (B) 10 km
(C) 8km (D) 12 km

First day of a leap year is Wednesday,
then what day of the week was it on
318! December in that year ?

(A) Thursday
(B) Saturday
(C) Monday
(D) Friday

Four girls A, B, C and D are sitting
around a circle facing the centre. Band C
are in front of each other. Which of the
following is definitely true ?

(A) A and D are in front of each other
(B) A is not between B and C

(C) Distotheleftof C

(D) Aistotheleftof C
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50.

51.

52.

63.

-12-

The ages of A and B are in the ratio
5 : 7. Four years from now the ratio of
their ages will be 3 : 4, then the present
ageof Ais

(A) 25 years

(B) 20 years

(C) 35years

(D) none of these

Vandana drove her car for 30 kms
due North. Then she turned left and
drove for 40 kms. She then turned left
again and drove yet another 30 kms.
Again she turned left and drove her car
50 kms. How far do you think she actually
drove car from the initial point ?

(A) 10 km

(B) 50 km

(C) 30 km

(D) None

5 friends are sitting on a bench. A is to
the left of B but on the right of C. D is to
the right of B, but on the left of E. Who
are at the extremes ?

(A) A,B (B) A D
(C) B,D (D) C,E

Five boys are standing in a row facing
East. Pavan is to the left of Tavan, Vipin,
Chavan. Tavan, Vipin and Chavan are
to the left of Nakul. Chavan is between
Tavan and Vipin. If Vipin is fourth from
the left, then how far is Tavan from the

right ?
(A) 18 (B) 2
(C) 3d (D) 4t

55.

56.

57.

Pointing to a lady a man said, “The son
of her only brother is the brother of my
wife”. How is the lady related to the man ?
(A) Mother's sister

(B) Grandmother

(C) Mother-in-law

(D) Sister of father-in-law

If 31x5 is a multiple of 3, where x is a
digit, then x =

(A) O

(B) 1

(C) 2

(D) 4

A, B, C and D are playing cards. A and
C and B and D are partners. D is to the
right of C. The face of C is towards West.
Find the direction that D is facing.

(A) West

(B) East

(C) South

(D) North

If A is B’s sister, C is B's mother, D is
C's father and E is D's mother, then how
isArelatedto D ?

(A) Granddaughter

(B) Daughter

(C) Aunt

(D) Father
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50.

51.

52.

53.

43+

ASRBH Y5 : 7 % AGIE H 3| 3
499 @13 T TR T ST 32 4 I
A it Tde g ®

(A) 2594

(B) 2098

(C) 3574

(D) H & s 7

e 3L A 30 Tt S SR ST # |
TR 7 ol g ST & 3 40 Tl S & | 58
o = et ® 3T 30 ot Sl & | 58 TR
= gt 50 Tt 1o R T § | SR
ST TR T & e gl R 7

(A) 10 farsi

(B) 50 Tt

(C) 30 et

(D) 38 & HIS T

5ERA TS dd WS T | A, B 91¢ 3R
BfFgCHad N | D, BHF I M 2
fohg E o 910 3T ® | 698 AR #H-3H
E?

(A) A, B (B) A, D
(C) B,D (D) C,E
i ST 4 [aRT 2l 271 H& e U Ufad

u @2 81 9aH, 994, faftm, 5= % el &i
2| 7, fafts ot =rem, 79 & rd 34K
3| waw, daq iR faftem & < § ) 3fe
Rfm s ad g = g, 9 ed d a1
1 T T B 7
(A) et

(C) &

(B) T&w
(D) =her

54.

56.

57.
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e Afger il SR 3T A Y U 6N |
T, “IEh THAT W1 H TF 50 T A
I T | 36 Hie 39 N S R T 7
(A) =

(B) @

(C) @™

(D) WL Hl 5

I 31x5 3 & TN =, &l x TH 3F
2, dx=

(A) 0

(B) 1

€) 2

(D) 4

A, B, C 3R DA @ & 2| A 3 C aun
B 3t D @ewrft 1 D, C & X 3R |
C &1 Y& ufvem il 3T 1 D form Tawm i
3N gE F A3 7

(A) ufvem

(B) =

(C) =fem

(D) 3

afg A, Bfiaeq &, C,BHIT &, D, CHI
fiar S E, DI 9T 8, df AT D & &1
guy 2 ?
(A) et
(B) i
(C) ==
(D) fiar
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58.

8.

60.

61.

62.

-14-

In a certain code language ‘PUT' is
written as ‘57’ then how will ‘BAT' be
written in that language ?
(A) 25 (B) 60
(C) 55 (D) 23

Shalloo ran 20 m to the East, then he
turned left and walked for 15 m, then
turned right and went 25 m and then
turned right again and went 15 m. How
far was Shalloo from the starting point ?
(A) 45 m (B) 35m

(C) 25m (D) 15m

5girs A, R, D, S and V are sitting around
a pentagonal table. A is between Rand D.
S is to the left of V. R is to the left of S.
Who is to the right of A ?

(A) S (B) D
(C) R (D) V

Which one setof letters when sequentially
placed at the gaps in the given letters
series shall complete it ?

a_ca_c¢c__dec__d ad

(A) ddacdc (B) daadca
(C) dadaac (D) ddaacc

Rajesh is the brother of Ankit. Shano
is the sister of Shubham. Ankit is the
son of Shano. How is Rajesh related to
Shano ?

(A) Father
(B) Brother
(C) Son

(D) Nephew

63.

66.

Renuka started walking from her house,
she first walked for 3 km towards West,
then she turned towards North and
moved 4 km in that direction. How far
Renuka is from her house ?

(A) 3 km South

(B) 5 km South-East

(C) 5 km West

(D) 5 km North-West

Five boys A, B, C, D and E are sitting
in a row. A is to the right of B and E
is to the left of B, but to the right of C.
A is to the left of D. Who is second from
the left end ?

(A) D

(B) A

(C) E

(D) B

The median of goals secured by a team
in 10 matches given by 2, 3, 4, 5, 0, 1,
3,3,4,3is

(A) 3

B) 4

(C) 35

(D) 5

If P $ Q means ‘P is the father of Q’,
P # Q means ‘P is the mother of Q'.
P »* Q means ‘P is the sister of Q', then,
howis QrelatedtoNiInN#L$P+«Q?2

(A) Grandson
(B) Granddaughter
(C) Nephew
(D) Data inadequate



58.

59.

60.

61.

B2.
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Ife ferel} =rs W & ‘PUT =1 ‘57" foran
AT & df 3E Fig 99 § BAT & R
g s ?
(A) 25
(C) 55

(B) 60
(D) 23

II1e] 3194 qd fem =t 39w 20 |t =rerdt &,
ot 9% aITd g et @ 3R 15 ot 9o 2,
TR TG HgeRt 26wt SiTeft 7, o @ and et
B 3T 15 T @ | 376 IITe] 3 IR

A E R gt e ?
(A) 454 (B) 35t
(C) 254t (D) 15+

5 ISfAT A, R, D, S 31T V UF T=0f1g
o & 9N AN A B A, RIMD* o=
#R S, VFH M AT R, SF M 3K

R AF A ACEAR 2

(A) S (B) D

(C) R (D) V

== e TTe yam o fore g =1 5t v
Tt T H @ S a1 e i
g [ 7 & 7
a_ca__c__dc__d__ad__

(A) ddacdc (B) daadca

(C) dadaac (D) ddaacc

TSI 3fERa &1 9TE 21 W Y o e
B feRa ITHT 1 A 21 A TSI H I
ey R 7

(A) foar

(B) g

(C) ¥
(D) e

63.

65.

66.
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LOPERT 319 SR ST ST S & SR 7w

i 37r 3 fordt st 2, o o s o
TS STt & 3% 39 G § 4 ot Sl 2
R A R T R g R

(A) 3 foret =faqor

(B) 5 TRt afequrgg

(C) 5 forit ufrem

(D) 5 ferdt 3m-afemm

JRITSHA, B, C, DARE THUFI A3 2 |
A,BHTM AN E | E, B aTL IR fohg C
e A2 | A, DF U AL | & od
AU RAR?

(A) D

(B) A

€) E

(D) B

10 Bt H ek A g foRw e e s e
2,3,4,50,1,33,4,3%2

(A) 3

(B) 4

(C) 35

(D) 5

afe P $ Q &1 "aas & ‘P, Q @1 fan
®, P # Q% Hdad & ‘P, QI Wl 7,
P + Q % Haes & ‘P, Q &Fi &89 BI' @
N#L$P+*QHQFINT RI Ty 2 7
(A)

(B) didl

(C) s

(D) 3I9ITA =T
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67.

68.

69.

70.

71.

There are five different houses, A to E
in a row. A is to the right of B and E is
to the left of C and right of A. B is to the
right of D. Which of the house is in the
middie ?

(A) A (B) B

(C) C (D) D

Find the odd word from the given
alternatives.

(A) Bigger

(B) Faster

(C) Greater

(D) Taller

‘MORE' is related to ‘EORM' in the same
way as ‘SUIT' is related to

(A) TIUS (B) IUST

(C) ISTU (D) TUIS

Find the odd one out.

(A) Webcam

(B) Speaker

(C) Digital Camera
(D) Smartphone

If ‘P x Q" means ‘P is sisterof Q', ‘P + Q'
means ‘P is mother of Q'. 'P — Q' means
‘P is father of Q' and ‘P + Q' means
‘P is brother of Q'. Which of the following
represents ‘M is the nephew of R’ ?
(A) M=T-R

B) R+=T-M

(C) RxT+MxJ

(D) R+=T-M=+J

72.

73.

74.

The probability of getting a head when
a fair coin is tossed is

1
A 3
(B) 1
(C) 0O

3
D) %
Five friends P, Q, R, Sand T are sitting
in a row facing north. Here, S is between
T and Q and Qs to the immediate left of R.
P is to the immediate left of T. Who is
in the middle ?
(A) S
B) T
(€) Q
(D) R
Which of the following diagrams

represents a relationship between
players and footballers ?



67.

69.

70.

7Rl

e

AT E % U 8 Ufa H 9TE STeT-3Ter
TE|A BFHIMIANTE | E, CHaN 3R
SIMAFICINE | B, DFH W AR |
FHA-T WA B ?

(A) A (B) B

() C (D) D

T T ferpedi § & 2767 Y158 I 94 |
(A) fmm

(B) WRIX

(C) 1=

(D) <ew

‘MORE' #I Sl 58] ‘EORM ¥ &, 98 gy
‘SUIT #T forea 2 7
(A) TIUS
(C) ISTU

(B) IUST
(D) TUIS

399§ ST 9762 T A |
(A) M

(B) Rt

(C) fefses Fwa

(D) e BH

I ‘P x Q 1 Waed & ‘P, Q il 784 2,
P+Q®AdGEE e P,QHAHIR IP-Q
FHTEEE P, QF a2 s P+ Q
1 Haee & 'P, QF 9 ¥, TH S HH T8
gy f3F ‘M, R #1 wdfis & 7

(A) M=T-R

(B) R=T-M

(C) RxT+MxJ

(D) R+T-M=J

72.

73.

74.
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e e i SeTe 9t 3i s < wifteran
2

:
A) 3
(B)
(©)

1
0
3
0 3

9 P, Q, R, S 3R T 3w &l ARG
Fh U AR T | TS, TIMQF
HFTTAMQ, RF deh o SIS | P, T
FAHA TN ALE | AT RS ?

(A) S
| T
€ Q
(D) R

T @ FA-w spfa fgenfeai st
FESITeR! % ST GaE i GuIidT & 7



MKG-XXXI/GENSS/1T/03

75.

76.

77.

Saroj is mother-in-law of Vani who is
sister-in-law of Deepak. Rajesh is father
of Ramesh, the only brother of Deepak.
How is Saroj related to Deepak ?

(A) Mother-in-law
(B) Aunt

(C) Wife

(D) Mother

I in a certain language ‘NAME' is written
as '‘OYPA', then how will ‘TEAM' be
coded in that language ?

(A) UCDI
(B) UCID
(C) UICD
(D) UDCI

Which one of the following diagrams
represents the correct relationship among
Teachers, Educated, Employed ?

O
QO

-

o @D

(A)

By taking the given statements are true you
have to decide which of conclusions always
follow ?

78.

79.

80.

Statements : Some rings are coins.
No coin is brown.

Conclusions : |. Some rings are brown.
Il. Some coins are rings.

(A) Only | follows

(B) Only conclusion Il follows

(C) Neither | nor Il follows

(D) Both conclusions | and Il follow

Statements : Many hens are horses.
All horses are singers.

Conclusions : |. Some hens are singers.
Il. No horse is a hen.

(A) Only | follows

(B) Only Ii follows

(C) Neither | nor |l follows
(D) Both | and Il follow

Statements : Only crows are birds.
No cake is a bird.

Conclusions : |. Some crows are not
cake.
Il. Some cake are not
Crows.

(A) Only | follows

(B) Only Il follows

(C) Neither | nor |l follows
(D) Both | and Il follow



75.

76.

~19-

U ot = arE & SR A s B At & |
TSIT T =1 Tt & 33 9T Sioe =1 v
VSR | S TR S T g & 7

(A) dE
(B) =mht
(C) Tt
(D) =t

Ife fret wre 9T H ‘NAME’ F1‘OYPA',
forar stran 2, @ 3t e amT § TEAM?
=1 1 Torar e ?

(A) UCDI
(B) UCID
(C) UICD
(D) UDCI

T § A-H st el fifarat ot
TR o ST ey 1 Tt ST 8 7

(A) O
QO

- G
o @D

78.
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20 10 ST 1 Ted ATd g IR FHuffE e
& fop wm - freshd sweR BRI STgERT ST 7
FUA . TS Tocl Eh T |

1% fomm 2 |
frerd | FOTwIRE |
II. F fomrk goct ¥ |

79.

80.

(A) et | SITETOT LGl &

(B) Fac Fd I e 4 2

(C) T | 3T I & & =18 g T
HAT &

(D) Toesred | oM 11 ST S3gEToT hed &

A . R e E |
osft =e T E |

frerd . | e gRiTEEE |
Il =g e g A ® |

(A) HeTeT | SFTET0T FAT B

(B) Faet fwa || STETor e @

(C) Tred | o 1 7 & =g e T
AT

(D) s | &7 11 ST SrgEr o &

AT e i et € |
I3 e fafean 781 2 |

e | T F1 FH I T |
II. T ek ki TE E |

(A) I | ST FHA &

(B) Fae fshd || v F:tar 2

(C) e | & I & & i e &
FAT B

(D) Tred | 3fit 1| S ST Fd §
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81.

82.

83.

iii) Arithmetical and Numerical Ability

Half the perimeter of a rectangle garden,
whose length is 4 m more than its width
is 36 m. The dimensions of the garden
are

(A) 20mand 20 m
(B) 16 mand 18 m
(C) 20mand 16 m
(D) 18 mand 20 m

A fraction becomes %, when 1 is
subtracted from the number and it

1
becomes — when 8 is added to its

4
denominator. Then the fraction is
5
A
1
®) 13
4
(C) 2
7
O) g

A train covered a certain distance at a
uniform speed. If the train would have
been 10 km/h faster, it would have
taken 2 h less than the scheduled time
and if the train was slower by 10 km/h,
it would have taken 3 h more than the
scheduled time. The distance covered
by the train is

(A) 535km

(B) 572 km

(C) 600 km

(D) 623 km

84.

85.

86.

87.

In AABC, [C=3B=2(A+|B)then
Bis

(A) 20°
(B) 40°
(C) 120°
(D) 60°

Two chairs and three tables cost
% 5,650, whereas three chairs and two
tables cost ¥ 7,100. Cost of a chair is

(A) 2550

(B) % 1,200
(C) 2,000
(D) ¥ 1,355

Which of the following represents a
quadratic equation ?

(A) x=1)(x+2)=(x-3)(x+1)
(B) (x+2)2=4(x+3)
(C) (x+3P2=3(x-1)2
(D) (x=1)(x+1)=x2

Roots of the equation
x2— (\B+1)x +/3=0are

(A) 3 and 1

(B) V3 +1and V3
(C) 1and—+3

(D) -3 and V3
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82.

83.
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iiil) FSTTUTAIS Ue EEaTHeE T

U SATIATH S s et affafa 36+ R
3R Tl aE, SuHh e § 4 1t i
&, a1 wfia it FaR-den &

(A) 20 3 20 Ht

(B) 16t 3fw 18wt

(C) 204t 3R 16 1

(D) 18 i 3T 20

foret R G 3 1 TeR W e %'t?raﬁh
2 wafes 38 & 1 3 8 i e A
as-}am%,aagfﬁa%

5

(A) 12

(B)
(C)

(D)

O~ NS
| E

T TS FS I N OF G G aE
et 21 3 o i nife =1 10 fFdt /e
g1 41 STe t 9 38 g i faifa e |
2 92 %8 THY H O L ot A AT et
i1 nifa =1 10 Tt /5o a0 = o s
a1 38 39 gl F 99 F § Fuff@ w5
¥ 3 Her tfeek e | et gr 7 i
Wi ?
(A) 535 fepeft
(B) 572 fet
(C) 600 et
(D) 623 fet

84.

85.

86.

87.

AABC # 7f2 |C =3B =2(A + B)at
B =2

(A) 20°
(B) 40°
(C) 120°
(D) 60°

3t FHf it off7 2ae 1 g ¥ 5,650 ©
SFaIfeh 9 i T 2 29 FHed 27,100

2, o o 3 lf o e e @ 7
(A) T 550

(B) % 1,200

(C) T 2,000

(D) % 1,355

freferfian & & e v feema sl g 7
(A) (x=1) (x+2)=(x=3) (x+1)
(B) (x+2)2=4(x+3)

(C) (x+3)2=3(x—1)

(D) (x—=1)(x+1)=x2

T %2 — (V3 +1)x +/3=0F &1 &
(A) /3 3 1

(B) V3 +13 3

(C) 13 —-3

(D) —/3 3T /3
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88.

89.

90.

91.

If the discriminant of the equation
6x2 —bx + 2 = 0 is 1, then values of b
are

(A) +7
(B) =6
(C) £1
(D) None of these

If the equation (k— 12)x2 + 2(k—12) +2=0
has equal roots, then value of k is

(A) 12
(B) 14
(C) —12
(D) —14

A quadratic polynomial whose one zero
is 6 and sum of the zeroes is 0, is

(A) x2 +36
(B) x2-6
(C) x2-36
(D) x2-3

The speed of the boat in still water is
15 km/h. It can go 30 km upstream and
return downstream to the original point
in 4h and 30 min. What is the speed of
the stream ?

(A) 5 kmi/hr
(B) 7 km/hr
(C) 5.5 km/hr
(D) 6 km/hr

92.

93.

94.

95.

YOO OO

If the equations ax + by + ¢ = 0 and
dx + ey + ¢ = 0 represent the same
straight line, then

(A) ac =ad
(B) ad =be
(C) ac=bd
(D) ab=dc

Which of the following form an AP ?
(A) 1, 1,2 2,3,8:.

(B) 3,412,427, /48,...

(C) 0.8,0.33,0.333,...

(D) -1,1,-2,2,-3,3,...

Which of the following n'" term forms
an AP ?

(A) t,=3n-2
(B) t,=2n%+1
(C) t,=4n%+3

(D) t,=9-11n2

What is the next term of AP :
(@+b),(a+1)+b,(a+1)+(b+1),.72

(A) (@+2)+(b+2)
(B) (@a+2)(b+1)
(C) (@a+2)+(b+1)
(D) (@+3)+(b+2)



88.

89.

90.
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Tfe T 6x2 — bx + 2 = 0 1 faves
1%, at b %1 91 foha=n & ?

(A) £7
(B) +6
(C) £1
(D) FH & =g 7

Ife THIERT (k- 12)x2 + 2(k — 12) + 2= 0
% 9o §AE B, a1 k 1 5= F=9 8 ?
(A) 12

(B) 14

(C) -12

(D) -14

us feEma sgdia fee v v 6 @i v
FAMOR

(A) x2+36
(B) x2-6
(C) x2-36
(D) x2-3

TTd et | A9 = =Te 15 ot ez 21w
= famia 30 forrdt s 3 ik a3 g ardt
39 UE T W ST H 98 4 927 30 foe
1 THY ST &, Tl 9T e R 7

(A) 5 Tedt /=2
(B) 7 ferdt /et
(C) 5.5 farsdt /a1
(D) 6 Tt /=

92.

93.

94,

95.
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7 Tt ax + by + ¢ = 0 3iK

dx + ey + ¢ = 0 U Hieht T =1 awiia
g

(A) ac =ad

(B) ad =bc

(C) ac=bd

(D) ab=dec

398 & T U S Ao F eI H R 2
(A) 1,1,2,2, 3, 8,..

(B) 3,\12, 27, V48,...

(C) 0.3,0.33, 0.333,...

(D) _11 1! -2; 2; _3, 3,...

FefcTRaa S san nat 9e v gHie i
FEIHE?

(A) t,=3n-2

(B) t,=2n?+1

(C) t,=4n*+3

(D) t,=9—11n2

TR Aoft (a + b), (@ + 1) + b,

@+ 1)+ (b +1),... 7 AT G 1 2RT 7
(A) (@a+2)+(b+2)

(B) (a+2)(b+1)

(C) (a+2)+(b+1)

(D) (@+3)+(b+2)
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96.

97.

98.

99.

-24-

How many terms are there in the
sequence 3, 6, 9, 12,...,111 ?

(A) 37

(B) 38

(C) 39

(D) 40

1 1 1 1 13
If 2x+?3¥_2 and §+W__6_ then

X and y are respectively

(A) 1and 1
1 1

(B) 5 and 3

2and 3

none of these

(C)
(D)

If ' term of an AP is 3 + 2n , what will
be the sum of first 24 terms ?

(A) 51

(B) 1081
(C) 672
(D) 2023

A man repays a loan of ¥ 3,250 by
T 20in the first month and then increases
the payment by ¥ 15 every month. How
long will it take him to clear the loan ?

(A) 10
(B) 13
(C) 17
(D) 20

100.

101.

102.

103.

In the following find the missing term.
2,26

(A) 13

(B) 12

(C) 14

(D) 11

If the 3" and 9t terms of an AP are
4 and - 8 respectively, then which term
of the AP is zero ?

(A) 5" term
(B) 6 term
(C) 7™ term
(D) 8" term

Two AP’s have the same common
difference. The difference between their
100" term is 100. What is the difference
between their 1000 terms ?

(A) 1000
(B) 100
(C) 10
(D) 0

lfk—1,k+3and 3k—1arein AP, then
value of k is

(A) 2
(B) 9
C) 4
(D) None of these
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97.

98.

99.
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TEe 3,6,9,12,.. 111 HRFa 9 2
(A) 37
(B) 38
(C) 39
(D) 40

1 1
'!ﬂ'?.' 5‘?‘@—

xaﬂtym:%
(A) 13Mm1

® 27
(C) 2= 3

(D) 7 | =rd 7

Ife forel T Ao 1 nafa2@ 3+ 2n R,
Al 9UH 24 9281 =1 A0 faan g 2

(A) 51

(B) 1081
(C) 672
(D) 2023

UE HTEHT HA9H T 3,250 & I FI
JEIdl 39 TR FA1 & o vmen HEA
% 20 F1 YTAE FAT & AT e q I
I =1 R H FASH T 15 i g
FTAT 8, a1 /0 gFEE H 39 TR w9
T 2
(A) 10
(B) 13
(C) 17
(D) 20

100.

101.

102.

103.
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F=feafiaa & @reft g w0 2 7
2,[ ], 26

(A) 13

(B) 12

(C) 14

(D) 11

7fe fopelt wurear oft =1 de @K 391 92
FHI: 4 30T - 8 7, T AHiR it T
98 [ 7 2
(A) 531 1g
(B) 6 TG
(C) 7aT g
(D) 8d1 9

a1 Tt 2ot T ST S U EHH B |
72 39% 1003 U8 %1 3T 100 B, a1 34
1000 3 9= =1 37X fohan B 7

(A) 1000
(B) 100
(C) 10
(D) 0

afe k—1, k + 3 37T 3k — 1 T THIAL Foft
ST B, a1 k %1 w1 fRaen B ?

(A) 2
(B) 9
(C) 4
(D) T & g T
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104.

105.

106.

107.

Common difference of the AP
iRt .

p P P

(A) -p

(B) p

(C) 2

(D) -1

If the common difference of an AP is 3,
then ayy— a5 is

(A) O

(B) 5

(C) 15

(D) Cannot be determined

To find the popular size of a readymade
garments, which central tendency is
used ?

(A) Mean
(B) Median
(C) Mode
(D) None of these

The common difference of the

AP, 5-;—. ol 131 471

o= Sioy Mg s

1
(A) 4'2'
(B) 5
(C) 4

(D) 8

108.

109.

110.

25 1 K

The mean weight of 9 students is 25 kg. If
one more student is added to the group
then mean is unaltered. Weight of the
10t student is

(A) 25kg
(B) 24 kg
(C) 26 kg
(D) 23 kg

If a die is thrown, then probability of
getting 4 is
(A)

(B)

(©)

DL N o= olb

(D)

If 22N term of an AP is 149 and common
difference (d) is 7, then the sum of first
22 terms is

(A) 100
(B) 1661
(C) 1550
(D) none of these

Value of o6 52 is

(A) 3
) o

(B) —2
(D) 1
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104. GEwET A0 i
P P p
1 T A foraan 2 ?
(A) -p
(B) p
(C) 2
(D) -1

105.

106.

107.

=27=

Tfe foret wm=t Aoft =51 g ST 3 R,
M ay—ays="?

(C) 15
(D) Trertfea ==t o <1 weren

Tt e 9@ F TOFy R
e % foe e Fa wafa = swm
s ?

(A) 999
(B) wifE=ht

(C) #HE

(D) " ¥ I3 e

1 1 1 1
g goft 5—, 9—, 13—, 17—, ...
C T o

2
T 3 a2 7

3
(A) 45

(B) 5
(C) 4
(D) 3

108.

109.

110.

111.
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9B 1 e aw 25 el 2 | 3l wge
T U AN B FI g g sl siea |
F1E aftada el 211 2 | 109 B F1 I
feRaaT 2 7

(A) 25 fere
(B) 24 foret
(C) 26 fwat
(D) 23 fFan

ot W 1 HeE T 4 ST A ETET
foet gt ?

(A)
(B)

(C)

(D)

W HIN o= O

32 e agior 4vfi 771 223792 149 IR Iafs
IR (d) 7 2, 9 T=H 22 T I A B

(A) 100

(B) 1661

(C) 1550

(D) =z & Frd 7
’2 4 l )
o6 52| T o
(A) 3

(C) 0

(B) -2
(D) 1
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112.

113.

114,

115.

How many 3 letter words can be formed
using only consonants using each letter
once ?

(A) 7890
(C) 7089

(B) 7980
(D) 7098

In how many ways 7 people can be
seated in a row if two particular people
always want to be together ?

(A) 720
(B) 1440
(C) 2880
(D) 360

A girl of height 80 cm is walking away
from the base of a lamp post at a speed
of 1.2 m/s. If the lamp post is 3.6 m
above the ground, the length of her
shadow after 4 seconds is

(A) 6.1m

(B) 1.6m

(C) 1m

(D) none of these

How many 5 digits numbers can be
formed with the digits 2, 3, 5, 7, 9 which
are greater than 75,000 ?

(A) 12
(B) 24
(C) 36
(D) 48

116.

117.

118.

119.

120.

The number of arrangements of the
letters of the word ENGINEERING that
begin with E and end with E

(A) 13,442
(B) 12,829
(C) 14,451
(D) 15,120

In how many ways can 4 people occupy
6 vacant chairs 7

(A) 4
(C) 225

(B) 6
(D) 360

In how many ways can 7 persons be
seated in a row if two persons always
occupy end seats ?

(A) 250
(B) 230
(C) 220
(D) 240

The number of arrangements of the
letters of the word ‘COMMITTEE’
ending with MITE is

(A) 120 (B) 200

(C) 150 (D) 175

If 2 triangles ABC and DEF are similar
and their areas are respectively 64 cm?
and 121 cm?, EF = 15.4 then BC =

(A) 11em
(B) 11.2cm

(C) 5.6cm
(D) none of these



112.

113.

114.

115.

A ST o S AU 1 3T A §U 3
F& et fohd 3188 910 ST Hehd & STElh
U 38T I 39A1 Ueh B S BT 7

(A) 7890 (B) 7980
(C) 7089 (D) 7098

s Ui | 7 A & faeas @i & faemn
ST GHAT S HeA(oh 398 © 31 SR BN A1Y
TEAT ITEd § 7

(A) 720

(B) 1440

(C) 2880

(D) 360

90 &t Feré i UF oieH TH o9 T W
1.2 H1/& i vfd B o1 ARE FdT 8) AR
A gre I A 3.6 M F=1 B, A1 4 TS
W1E 3uh ol $Y = F47 w2 ?

(A) 6.1

(B) 1.6

() 1

(D) 38 § &S Aw

2, 3,5, 7,9 3% ¥ 5 TH et Frat
HEATY 5HTS ST Gkl & S 75,000 AT
B 2

(A) 12

(B) 24

(C) 36

(D) 48

118.

117.

118.

119.

120.
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ENGINEERING 353 % 3111 2l gHeda e
i o Y188 ST 511 99 & o8 6
ARIAAER ?

(A) 13,442

(B) 12,829

(C) 14,451

(D) 15,120

fopet il & 4 1 6 ETel! Hiea W 93
gFEAae ?

(A) 4 (B) 6

(C) 225 (D) 360

7 gfFaat #1 v qfea A fohas W ©
foraran i wear & difeh 2 safaaal @l a9
wfem v et 7

(A) 250

(B) 230

(C) 220

(D) 240
‘COMMITTEE’ 3168 % 3123 %l gAeda e
o fha 9182 SIFTU ST Eehd © foideh 34
qMITE® ?

(A) 120 (B) 200

(C) 150 (D) 175

7f% 2 fiss ABC it DEF ¥ # 3fit 37

HTFe FAY: 64 TH2 3k 121 2 2,
EF =154d1BC =

(A) 11 @t
(B) 11.2%H
(C) 5.6t
(D) ¥ | F1E el
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iv) Hindi Language and Comprehension
okt s of Ay
121. 390 & EaEs 631 95 & 126. foem= Hifs |
(A) Tl a) TuiEdt 1) T2 =
(B) =gd b) =W ) sy TEm
(C) T=sH c) Tads ) FHEE G
(D) e d) =g V) iR e
a b c d
122, =i 38 =H9-91 ves Brr-fgmm 2 7 (A Mmoo
(A) o ® 01 mw
(B) gfgam Cc m v o
(C) #tar D) v lm
o 127, 2 T T S AT e A
123. a9 % 92F 97 37 2d & (A) T (B) #fd
(A) 3ev3 3t e (C) TF (D) T
(B) #hal I famam N .
(©) F 3in e 128. TIEH HEY @ 9Tt 31 41 21 o 31 e
(D) = i sy %ﬁaa‘;‘———“ﬁ_‘
(A) d9E (B) dfY
124. B O TFe § 950 @ @ | {@ifehd I9e8 (C) faFm (D) faso
FF 2
(A) TR FIE 129. s # Fvi-T=ae &
(8) R T (A) G+A+B++B+H+T+ H
e T b gt i S
(D) HELHR (D) I+A+3+q+HA+Y+3+L+5+H
125, 3raT iR el & TR & o aTel 98 8 156, O
(A) s (A) S +B+F + 3T+ + 3
(B) e B) A+AT+B+F+AT++ A
(C) ¥== (C) FM+B+ M+ +T+H
(D) 5"3%““ (D) M+B+TAM+9+ 3
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131.

132.

133.

134.

135.

284~

YT T Sgee &9
(A) =g

(B) Hrgd

(C) wferai

(D) rd

'@ %! GHT A | T@iThA Y1eal & Feh %
ol e 2

(A) H9EH FH

(B) =H FIh

(C) =l FNH

(D) EEY FNF

TrumaTes T wwEt |

(A) T U FATHOIT Feew T ¢ |
(B) 3@ =ma © fordt =t g A 2 |
(C) W8I %= e =& & ?

(D) & e T =1 Wiwr 2 |

deia F wal g -fassg
(A) &t + &7a

(B) & + 314

(C) darm + 35

(D) d&m + 4

I # af-faese
(A) 3 + Te
(B) I + FH
(C) 3aU + T
(D) 39 + T

136.

137.

138.

138.

140.
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2 o wre o o, qmai kil

M |

(A) AU F R

(B) i@ FHar

(C) 3= e

(D) =eedt =1 5ia

T ifstg |

a) 9| 1) eAfereRor degey
TqTy

b) T 1) e Tegey
™

c) G ) TR qege
ga™

d) et V) = ey g

a b (s d

A v

® v moon

© m v 1o

(o) N T AV

o, T T I8 T gHE o IeEw e 7

(A) TegEY (B) =t

©) = (D) =Hem

| 1 3= T8 = HY 2

(A) T=aTs FHt STerdt TRl

(B) T= &l 3 wrdt J&t

(C) T=aT =1 7e1 &

(D) &= & e i AFEFA 74l &

el 3R g T F ge 8 7
(A) THafti (B) wwHilE=
(C) Jgmmiy® (D) v wifi=s
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141, ‘7cdq H HH-91 3967 8 7
(A) = (B) =fd
(C) ¥ (D) T & FrE T
142, Fa T TRl F oI qed & 7
(A) E (B) TEH
(C) ferdrmr (D) T
143. g o | witaomEress T3 fasmom 2 7
(A) T F1 AT &1 2
(B) UehsT ST MIF &
(C) ¥ T Ffist e Tear
(D) 39 oW =i & aga et 98
144. Tre SEHIS e iz
I | fam o i gfd s=gerass
HAH © L |
(A) T (B) I
(C) 3= (D) &H
145. faem s |
a) IH 1) =R
b) =i I1) g
c) ¥ ) fau=
d) T V) I’
a b c d
A 1 v
@ IV I nom
© v w1
o 01 Wwom
146. Uil i g v B
(A) 6 (B) 8
(C) 10 (D) 12
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147.

148.

149.

150.

foem #ifse |

a) E=Ey 1) g
T

b) HIR ) f&q e

c) HaErn ) FHeTT a9E

d) FrefEe IV) Teqes SHTE

a b c d

A v omoon

@ I voum

© n 1 wvom

o)y v

GU=EES 39 H S B T g

BT 8

(A) ot form

(B) 13 famm

(C) 1=u farm

(D) Aferm

T Fife |

a) I ) ==

b) W& ) |«

c) ny s

d) F v) fet
a b c d

A v

® m 1w ou

© v 1nomo |

@ | wmnw

=1 % & weTgmr eafy 7E R

(A) & (B) =

C) 7 (D) §



151.

152.

153.

154,

155.

156.

Frafafaa 4 @ F-a1 s agwa @ ?
(A) 9 (B) A
(C) @& (D) I3 7=

ITA-IT Y2 - F Tt -
g4 Fifew |

(A) TreT-FHe

(B) FUi-umt

(C) Farg-ayt

(D) FHA-FaTA

g o 2@ R |
(A) TFEEE B

(B) gfasmtie formn
(C) /v foram

(D) =7qut famam

TS 9 et 3T | IR 1 e -9E B
(A) wfasraee

(B) ¥g=red
(C) FAUHH

(D) o [T

Hiewy w153 1 314 B

(A) Toreeht =nfea w3 &2

(B) foeh g = Fftsa s A &
(C) oo wew & &1 aman &
(D) Tomeht smen & 7 61 =A@

T yree & Sum 1 W e B 7
(A) STFR

(B) SRR

(C) ST

(D) EHERR

157.

158.

159.

160.
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& a1 g |
(A) SERaga S e |
(B) feamaga 3=z |
(C) RaeregaF=h |
(D) daTe WEd S ¢ |
e #ifsre |
a) IUEHI 1) STeRivE Tee
b) WI-gug ) =gsiife wam
c) Haufse ) &5 &9
d) wFdRE Iv) ey g

a b c d
A IV 1
@ | mowvon
© v owmo
o mornw
& % ¥IH E S Te 7 ST 3
(A) T T

(B) dHifua arei & %9 T4
(C) BRI B w31 FW AT
(D) =fira greEi & o2 == 72 2

T8l o g H a1 - weffa et R w
B & YT T8 FH-F1 ISHE a1 B 7
(A) ¥

(B) eATSEfd

(C) v

(D) Fifa
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v) English Language and Comprehension
SIS T 3R Ay

In each of the following sentences a word is

underlined. Choose the right synonym of the

word underlined from the alternatives given

below the sentence.

161.

162.

163.

164.

-34-

They are out to disgrace his name,
(A) Dishonor

(B) Reject

(C) Transform

(D) Disown

It was a fragile, inflammable shop.
(A) Strong

(B) Crowded

(C) Vulnerable

(D) Deserted

It seemed incredible.
(A) Ambiguous

(B) Impertinent
(C) Irrelevant

(D) Unbelievable

He tried not to notice people’s
contemptuous attitude towards him.

(A) Friendly
(B) Insulting

(C) Appreciative

(D) Indifferent

Fill in the blanks in the following sentences
using the appropriate antonyms of the word
underlined.

165.

166.

167.

168.

Many promptly claimed their photos, but
some remained in the shop

(A) Unclaimed
(B) Disclaimed
(C) Misclaimed
(D) None of these

The customer was satisfied unlike Ram
who remained

(A) Missatisfied
(B) Unsatisfied
(C) Dissatisfied
(D) None of these

Now that we know the theoretical
framework, let us examine the
aspects.

(A) Abstractive
(B) Hypothetical
(C) Practical

(D) Suppositious

She was concerned by the Vagueness
of the subjects, whereas others were
struck by their

(A) Clarity

(B) Unclearness
(C) Obscure
(D) Muddy
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Fill in the blanks in the following sentences
using the appropriate forms of the words given
in brackets.

169. The seems too severe
for his mistake. (punish)

(A) punish

(B) punishment
(C) punished
(D) punishable

170. He stared at the (disastrous) at
his feet.

(A) Disaster

(B) Disastering

(C) Disastrous

(D) Disastered

171. He accepted the situation with a
hopeless (resign).

(A) Resign

(B) Resignness

(C) Resignment

(D) Resignation

172. He would add that
his sins.

(A) Atone

(B) Atoneness
(C) Atonement

(D) Atonity

(atone) for

Give one word substitutes for the following from
among the choices given below them.

173. Another of the same.
(A) Ditto
(B) Maelstrom
(C) Banal
(D) None of these
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174, Comprehending a wide variety of
information.
(A) Judicious
(B) Encyclopedic
(C) Trombone
(D) Primeval

175. A wrongful entry upon the lands of
another.

(A) Banal

(B) Swagger

(C) Primeval

(D) Trespass

176. A puzzling question, problem, or
matter.

(A) Shandygaff

(B) Blatant

(C) Riddle

(D) Irascibility

Fill in the blanks in the following sentences with
the appropriate words from the alternatives
given below them.

177. He would not stint where this great
was concerned.

(A) Soul
(B) Sole
(C) Soal
(D) Saul

178. It will

(A) Coast
(B) Cost
(C) Caust

(D) None of these

seventeen rupees.
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179. Those were the golden, unforgettable
of heroism and sacrifice.

(A) Moments
(B) Movements
(C) Moaments
(D) Moovements

180. If they had to go out, they would always
take a longer
(A) Root (B) Route
(C) Roat (D) Rot

Fill in the blanks with suitable articles from the
alternatives given below them.

181. Why don't you-wear dress
I gifted you last Christmas ?
(A) a (B) an
(C) the (D) of
182. Who has keys to this lock ?
(A) a
(B) an
(C) the
(D) no article required
183. Manuis union leader.
(A) a (B) an
(C) the (D) none of these
184. Karishma is S.P. candidate
from U.P.
(A) an
(B) a
(C) the

(D) none of these

1000 O O

Fill in the blanks with appropriate prepositions
from the alternatives given below them.

185. Who would like to pose to the
tiger ?
(A) onto (B) near
(C) next (D) ahead
186. Xander is the man stubble.
(A) of
(B) with
(C) at
(D) through
187. The price of fuel has been rising
2014,
(A) for (B) by
(C) since (D) down
188. We reached the airport of
you.
(A) ahead (B) between
(C) towards (D) along
189. The ball was hit the
batsman.
(A) with (B) by
(C) from (D) besides

Add suitable question tags to the following
statements from among the alternatives given
below them.

190. We shall contribute generously, 7
(A) shall we
(B) shantwe
(C) dowe
(D) don't we



191.

192

Choose the best way to complete the sentences

below.

193.

194,

195.

-37-

Raveen isn’'t courageous,
(A) isn'the

(B) ishe

(C) does he

(D) has he

Bring your guitar, ?
(A) will you

(B) won’t you

(C) doyou

(D) don't you

| told him

(A) What the homework was

(B) What was the homework

(C) What was to be the homework
(D) What is the homework

| didn’t know

(A) What he mean

(B) What did he mean
(C) What did he meant
(D) What he meant

He said

(A) That two and two make four
(B) Two and two made four

(C) That two and two makes four
(D) Two and two will make four
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Fill in the blanks with suitable adjective from
the options given below each sentence.

196. My father is than your father.
(A) elder
(B) eldest
(C) older
(D) oldest

197. My brother is an |IAS officer.
(A) elder (B) older
(C) eldest (D) oldest

198. How students are there in
the hostel ?

(A) much
(B) many
(C) more
(D) none of these

Find out the wrongly spelt word from the
alternatives given in each options.

199. (A) Exempleary
(B) Embarrass
(C) Envious
(D) Excellence

200. (A) Efficient
(B) Reticent
(C) Magnificient
(D) Deficient
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SPACE FOR ROUGH WORK

% wTd & fore sum=
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iufigar & for wevaqul s

13.
14.

15.

17.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the gquestion concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method (| Wrong Mettiod Correct Mathod

O®00[0®00 Ce00

The Candidate must mark his/her response
after careful consideration.

Wrong Msthod

O®@00

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT reqjuired to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17,

18.

19.
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55 gftasT # 40 79 2|

e . e 9w 31YET TS Y HYE & A1
IR I AYAT [H FIA g9 ™ & | T4 g
H =l fdt v = g 2 5 v o = s
2 FYE FYF HI G H I 9 I b §
I Tiemn. @M A, B, C &1 D &t et a1 wren
afe-9is= 1 8 Fen (@) Fo 2 | (FfRanfm
Fueftzard & oo d@ma maen fEfus g
e e i)

I T & A A g e e 3
s fod | 3 R T 9w SR femiea |
Torsifera =1 o1 wét wrliem < fear m 2 |

ol Jolel lol2fele] (¢lOKelo] (6] lole)

Feeff & 91 I FEES AT e & 3w
fafa & =rfzu |

Yo W99 H1 Ao Uh B HE I 2 | 3T
Fgfed Fem 3147 A, B, C I1 D & Tieshi @H
I el (@) 0 2 | 3fg 3 R e % ama
UF H AMGF AR @ 5 901 (@) a1 39
Eiiccheiciicicn il

ofz foredt oo & f&=dt aun ssht srgeme § @i
3 2 W IS 3Ee F O gE TEe SR |

g F1d & O Faw wed o 1 fou ™ wem e
A | I fEas W s A A

79 yfteer & e Nae! I s T FE E |
T A IR U | @ 5|

Go through instructions given in Page No. 1 (Facing Page)
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